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Draft Supplement to | SO/I EC 8802-5:1995 P802.5r, Draft 7, November 1996
Dedicated Token Ring

Wilson Paper 802.5-96/11-13
ANNEX-L

(Informative)

DTR Station using the TXI Access Protocol

Join, Transmit and Monitor Low Level FSMs

This annex contains the 9.2 FSMsiillustrated by Figures 9.2-2 through 9.2-4, but with the level of detail
found in the 9.2 Station Operation Tables

Figure L-1 contains the Join FSM with the state transition detail of 9.2, Table 9.2-1.

Figure L-2 contains the Transmit FSM with the state transition detail of 9.2, Table 9.2-2.

Figure L-3 contains the Monitor FSM with the state transition detail of 9.2, Table 9.2-3.
Therules for these FSMs are identified in 9.1.1.9.

b Details of the changes to annex L requested
by Ballot Comment KTW58. U

This paper is a complete replacement for annex L in thé802.5r, Draft 6, October 1996document.

Figure L-1 on page L-2, the Join FSM, is missing the 9.3 State JO (JS=BP) starting point for the
C-Port in Station Emulation Mode using the TXI Access Protocol.

This missing starting point, which is shown in figure 9.2-1 on page 9.2-2 (Station Operation Table:
REF 1001 on page 9.2-12) and in figure 9.3-1 on page 9-3 (Port Operation Table: REF 1001 on
page 9.3-14), has been added to figure L-1 as follows.

FROM:
Clause 9.3
State JO State JA: JS=SREG
(JS=BP)
N
N
Connect.PMAC & FPOTO=0 & FSREGO=1 N
TS=STXN; Set_initial_conditions;
FIPTXI1S=1; FSTXC=FSTI=1; TSIS=R
annex-| L-1
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STATE JO: JS=BP

FR_REMOVE(DA=Non_broadcast) & FSRRO=0 | FR_RP | FR_SMP |
FSBPF=1& TS=STXN | INTERNAL_ERR(not correctable) | TEST_FAILURE | TSLMTC=E

STATE JB: JS=SLT

Disconnect. SMAC | FR_BN | FR_CT |
FR_MAC(SA<>MA & SA<>SUA & VC=00) |
FR_MAC(SA<>SUA & VC=03) | FR_PHB |

-

Connect.SMAC & FSREGO=1 &

L 5 AND(SPV(AP_MASK),0002)=0002 >
JS=SREG; TS=STXN; Set_initial_conditions;
FSTXC=FSTI=1; TSIS=R

FROM:
Clause 9.3
State JO
(JS=BP)

Connect.PMAC & FPOTO=0 & FSREGO:]»
TS=STXN; Set_initial_conditions;
FIPTXIS=1; FSTXC=FSTI=1; TSIR=R

Disconnect.SMAC | FR_BN | FR_CT |

FR_MAC(SA<>MA & SA<>SUA & VC=00) & SUA<>0 |
FR_MAC(SA<>SUA & VC=03) & SUA<>0 | FR_PHB |
FR_REG_RSP(AP_RSP=0000) & FSRDO=1 |
FR_REMOVE(DA=Non_broadcast) & FSRRO=0 | FR_RP |
FR_SMP | FSBPF=1& TS=STXN |
INTERNAL_ERR(not_correctable) |

TSREQ=E & CSREQ=0 & FSRC=0 & FSOPO=1

JAO —

JS=BP

STATE JA: JS=SREG

- JALA

- JA1B

JS=BP

TSLMTD=E

JS=SLT; TSLMTC=R; TXI_TEST

STATE JD: JS=SIJC

FSBNT=1& MS=SIT
JD

FR_REG_RSP(AP_RSP=0000) & FSRDO=0 &
FIPTXIS=0 & AND(SPV(AP_MASK),0001)=0001 |
TSREQ=E & CSREQ=0 & FSRC=0 & FSOPO=0 &
FIPTXIS=0 & AND(SPV(AP_MASK),0001)=0001

JS=LT,; FSTXC=FSTI=0; FTI=x;
Set_initial_conditions; TEST
FR_REG_RSP(AP_RSP=0000) & FSRDO=0 &
FIPTXIS=1 & AND(SPV(AP_MASK),0001)=0001 |
TSREQ=E & CSREQ=0 & FSRC=0 & FSOPO=0 &
FIPTX1S=1 & AND(SPV(AP_MASK),0001)=0001

- JBC

JS=LT,; FSTXC=FSTI=0; FTI=x;
FIPTXIS=0; FIPTKPS=1;
Set_initial_conditions; TEST

TO:
Clause 9.9
State J1
(JS=LT)

TO:
Clause 9.5
State J1
(JS=LT)

JS=SRW & TSRW=E & FSREGO=1 & FIPTKPS=1

JS=SLT; FSBNT=0; FSTXC=1; TSLMTC=R; TXI_TEST

STATE JC: JS=SDAC

TEST_OK
JS=SDAC;

1f FSIC=0 then MS=SOPT; FR_INS_RSP
FSHBA=FSRRC=FSTXC= (DTR_RSP=0000)
CSTFQ=1; TSIP=R; TSIC=R; - Jcp

JS=SIC; FSIC=FSOP=1;
If FSECO=1 then
(FSER=1;TSER=R);

TSQHB=R; TSRHB=R;
TXI_INS_REQ

TSWFD=R

FROM: Clause 9.5
State J9

-t

-

JS=SREG; TS=STXN; Set_initial_conditions;
FSTXC=FSTI=1; TSIS=R; FIPTKPS=0; FIPTXIS=1)

JS=SRW & TSRW=E & FSREGO=1 (& FIPTKPS=0)

(JS=SRW)

FROM: Clause 9.6
State J9

JS=SREG; TS=STXN; Set_initial_conditions;
FSTXC=FSTI=1; TSIS=R

(JS=SRW)

Disconnect. SMAC | FR_BN | FR_CT | FR_INS_RSP(DTR_RSP=8020) | FR_MAC(SA<>MA & SA<>SUA & VC=00) |
FR_MAC(SA<>SUA & VC=03) | FR_PHB(SA<>SUA) |
FR_REMOVE(DA=Non_broadcast) & FSRRO=0 | FR_RP | FR_SHB(SA<>MA) |

Figure L-1 Join FSM

INSERT; FSWFA=FSWF=0;

JDOA —

JDOB —

¢ FSBPF=1& TS=STXN | INTERNAL_ERR(not_correctable) | TSIC=E | TSRHB=E |
JS=BP

Disconnect.SMAC | FR_CT | FR_MAC(SA<>SUA & VC=00) | FR_MAC(SA<>SUA & VC=03) |

FR_PHB(SA<>SUA) & JS=SIC | FR_REMOVE(DA=Non_broadcast) & FSRRO=0 |

¢ FR_RP|FR_SMP | FSBPF=1& TS=STXN | INTERNAL_ERR(not_correctable) | TSWF=E & FSWFA=1 & FSWF=1
JS=BP; Remove_Station
l INTERNAL_TEST_FAILURE & MS=SIT
JS=BP
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STATE TA: TS=STXN

STATE TB: TS=STXD

PDU_QUEUED & FSOP=1 & FIPTXIS=0| TXI_REQ & FIPTXIS=0 -
TABA TS=STXD; FSTI=0; TX_SFS(P=x;R=0)
PDU_QUEUED & FSOP=1 & FIPTXIS=1 -
— TABB TS=STXD; FSTI=0; If FR_LTH<=PPV(MAX_TX) then FPTX_LTH=1;If FR_LTH=UNK then FPTX_LTH=0;
If FSMRO=0 then CSBTX=9; If FSMRO=1 then CSBTX=D; TX_SFS(P=x; R=0)
TABC TXI_REQ & FIPTXIS=1 -
TS=STXD; FSTI=0; FPTX_LTH=1; If FSMRO=0 then CSBTX=9; If FSMRO=1 then CSBTX=D; TX_SFS(P=x; R=0)
CSBTX>SPV(MAX_TX) & FPASO=0 & FIPTXIS=
e ( _TX) 1TBAA —
[TS=STXN; TX_AB; FSTI=1]
EOD TBAB ]
TS=STXN; TX_FCS; TX_EFS(I=0); FSTI=1|f JS=SDAC then CSTFQ=(CSTFQ-1)
STATION_ERR(correctable)
L BAC—]
TS=STXN; TX_AB; FSTI=1]f JS=SDAC then CSTFQ=(CSTFQ-1)
< STATION_ERR(not_correctable) TBAD —
TS=STXN; [TX_AB]; FSBPF=1
CSBTX>SPV(MAX_TX) & FPASO=1 & FIPTXIS=1
< TBAE—]
[TS=STXN; FSTI=1; TX_INV_FCS; TX_EFS(1=0,E=1)]
< DTU_UNITDATA-STATUS.indication(Fail) & FPTX_LTH=0& FIPTXIS=1I_BAF_
TS=STXN; TX_AB; FSTI=1

EOB & FIPTXIS=1

[CSBTX=(CSBTX+1)]

Figure L-2 Transmit FSM

LC

ET-TT/96-G'208 Joded uos|Im

Bury uexo | paredipag

G66T:5-2088 D3 1/0S | 01 Juswis|ddns 1jelq

966T JoquiAON ‘L 1yeid ‘15208d



abueyD 01 199 [gns ‘1Jeiqg splepueis 333 paroiddeun uesisiy g

‘ponJesa 1sIubL |1V ‘3331 966T B IYB1IAdoD

W wWw
w NP
T
m
=1
o STATE MB: MS=STBN STATEMC: MS=SIT
= STATE MA: MS=SOPT
>
Z
Z
m TSIT=E
e - MBC - -
MS=SIT; Remove_station; INT_TEST
r TSRHB=E & FSJC=1
- MAB |
MS=STBN; FSHBA=FSOP=0;
FSTXC=1; TSIT=R; TSLMT=R; TSQP=R; STATE MD: MS=SWFD
If FSSL=0then TXI|_BN(BN_TY PE=5);
If FSSL=1then TXI_BN(BN_TYPE=2) FR_BN(SA=SUA)
I - MBD——
e MS=SWFD; TSIT=R; TSLMT=R
= TSIT=E
e - MDG
& MS=SIT; Remove_station; INT_TEST
) ! FR_BN(SA=SUA) & FSIC=1
5 < - MAD -
) @) MS=SWFD; FSHBA=FSOP=0
+ Z TSIT=R; TSLMT=R
_|
©)
py)
2
FR_INS_RSP(DTR_RSP=0000)
- MCA
MS=SOPT
Figure L-3 Monitor FSM
-
A

(05

ET-TT/96-G'208 Joded uos|Im

Bury uexo | paredipag

G66T:5-2088 D3 1/0S | 01 Juswis|ddns 1jelq

966T JoquiAON ‘L 1yeid ‘15208d



